== /o5 = E10-0001,/0003
*E\ H lj\j nR %
THEXSy - T - flp - - A 4 % i AL N R
ENEIE %y
N Es e 1 = 1, 440, 506
HEEK+T 1 = 43, 048
E¥+T 1 = 43, 048
AR Y 1 Y
WEL 1 =
R (e SEE 1 =
HEKFEEY) T 1 Y 810, 369
R T 1 = 593, 733
7" Vv A NURL I 1 =
7 VR ANE % 57 UIANE 3FE (FiE ) 41 m
J1S333
= 1 =
B FTEE (1) 31 m
W=400mm
SREUANEZS (0 Vv—Fr ) BB E (1) 10 54
JISHEE R, V=Fv)" (T-25)
AE Kt T 1 Y 216, 636
ALKk v - SR 1 2V
B F T K b 4 (5530
MB-1
HEwRE L 1 Y 101, 633




s foA = E10-0002/0003
JER=R Ij\j nR %

T X5y - THE - fll % H {7 Az #H 51 I | N 2 N N

il

S BEE L T 1 = 65, 746

a7y - MEE R L 1 2V

g b LT 4 m3
MRS Y

EipSpealtn 1 X

LSRRI (72770 MEREERR) 42 m
AsEHEERRE —>15emld

B Rl A AP 1 2V

EEE AT A (VNI 1 TD) 12 m2

TEMRLEE T 1 = 35, 887

B 1 Y

DO 4 m3
vy - (Ef) tEEm & Y Z b L

DO 0.6 m3
A R A

ALy 1 X

VA ¢ 1 =
av ) -k (BER)

VA ¢ 1 X
TAT 7V ik

HEE??&:
iz
H
2

48, 456

HEE?-?
iz
H
>

48, 456

T AT 7L NEFET 1 =

INEE S 12 m2
AEEVE =100 1Bk L




E0-0003/0003

THRXSy - THE - fEi5 m | Hff & %A k| bl ] R
| JE A 12 m2
2HEEVEL=100 1USHiL
) (A - BIFED) 12 m2
_ t =5 0Omm
% T = 437, 000
A IBRE P T = 437, 000
AW E A B 1 iy

ERFZENREE 1, 440, 000
BSEI G e e 482, 000
DB R B =)y 482, 000
pll T 5t 1, 922, 000
I B 1, 383, 000
ARV 3, 305, 000
R A 751, 000
NI Ry =Ss 4, 056, 000

BEIE R AR 192,000 | ESGEHE LK N REHEICG FNDEEEANEEZBZE IR L TND,




